DAILY BASIS ASSIGNMENT
DAY: THURSDAY CLASS: V DATE: 23.4.2020

SUBJECT: ENGLISH

l. Identify the predicate in the given sentences.
a. The pretty girl was wearing a blue frock.
I. The pretty girl

ii. was wearing
iii. a blue frock
iv. was wearing a blue frock
b. My younger brother serves in army.
I. in army

ii. my younger brother
iii. serves in army
iv. brother serves in army
1. Identify the subject in the given sentences.

a. My mother and my aunt are trained classical dancers.
I. classical dancers
ii. My mother and my aunt
iii. My mother
iv. my aunt

b. A rich merchant was passing by the shoemaker’s window.
I. A rich merchant
ii. passing
iii. shoemaker
iv. window

c. The little tree was covered with needles instead of leaves.
I. needles
ii. leaves
iii. covered
iv. The little tree

SUBJECT: EVS
I. CHOOSE THE CORRECT ANSWER:

1. The animals that have sharp and pointed canines

a) carnivores b) herbivores C) scavengers d) omnivores



2. Which one of the following are very small organisms which feed on dead and decaying plants
and animals

a) herbivores b) decomposers c) carnivores d) omnivores
3. Insects exchange the gases through

a) gills b) lungs C) spiracles d) skin
4. It is a breathing organ found in almost all aquatic animals

a) lungs b) spiracles c) gills d) skin
5. Frogs and toads are the example of

a) reptiles b) amphibians C) aquatic animals d) mammals

SUBJECT: COMPUTER

I Choose the best options from those given below:

1) An example of information is
(a) Annual sales report of a company (b) Monthly salary of an employee
(c) A student’s roll number (d) All of these

i) A computer programmer is an example of
(a) Firmware (b) Liveware (c) Developer (d) Author

iii) You cannot start a computer without

(a) Application software (b) Mouse (c) Printer (d) Keyboard
iv) Example of firmware
(a) Floppy Disk (b) CD-ROM (c) ICs (d) All of these
v) Example of Application Software
(a) DOS (b) MS Word (c) Windows (d) Unix
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Subject: Maths

1. Choose the correct answer.
a) The expanded form of 8,64,216 is
i) 8,00,000+ 40,000+ 6,000+ 200+ 10+ 6
i) 80,00,000+ 8,00,000+ 60,000+ 200+ 10+6
iii) 80,00,000+ 8,00,000+ 600+20+ 6
iv) 8,00,000+ 60,000+ 4,000 +200+10 +6
b) The expanded form of 74,00,430 is
i) 70,00,000+ 4,00,000+ 400+ 30
ii) 7,00,000+ 4,000 +400 +30
iii) 70,00,000+ 4,00,000+ 4000+ 300
iv) 7,00,000+ 40,000+ 400+ 30

D= (in Hindu-Arabic numeral)



) 100 §i)500 iii)5 iv) 1000

........................ (in Hindu-Arabic numeral)

) 1000 i)10 )5  iv) 100

e) Successor of a number = number + ..........

i) 0

il )2 iv)3
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